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Topic:- General Hindi

1) “3MY AR & 3 T ST 17 3 I BT Y[ AT T RI?
1. 3T YMAGR H) 9 M|

2. 31U YMFIR =l WY |

3. 3T YR & Fd oY |

4. 310 YAIR D! el T

Correct Answer :-

. 31U AR &I Idl S|

fray iy Sy’ 50 Sfdar & @A s &2
1. BOIRI TRTG

2. oI Furdt

3. gAY I T

4. ATGdT gHf

Correct Answer :-

. A% I g

3) «3(Tq Yt fhar?” 59 919 BT Y5 IR T g2
1. 3T Yo faam



2. 3T HIoH B! fam
3. HISH 31U+ fasar
4. 31T HioH fHE?

Correct Answer :-

. MU HieH B

4) o<t foaR &Y, yia & ool AifST graT iR IA A Ueaaa &1
1. UeeAad foam ST gl

2. Dicud fobar ST gt

3. Afdhdl fopaT ST &1

4, gfeyd fobar S 1

Correct Answer :-

. gcdtad fear S 8t

5) B BT =19 Id13M:

W9 79 fod g, 9 7 foaRa A w4
g A faafrd, foe fovr fevr sme v

1. Y
2. 3T

3, IeATal
4. gR TifaaT

Correct Answer :-

6) B¢ DT ATH Id130:

Hemar ufvu™, s Ue W g< g,
-9 I-GT, HEdn W ¢ |
Afeal IH-vaTg, Bd dR1-Hsd §,
oM W9, AY-1 g 81

1. 80y

2. el

3. TfifctenT

4. gR Tifcrept



Correct Answer :-

7) P BT A §:
1. IR, BT

2. IR, fbRT
3. HHRT, dieT

4, IR, BIG

Correct Answer :-

8) e iR w1 wm ad 32
1. fga9 iR fiklE

2. feaw IR TR

3. 2199 AR TRig

4, o9 iR g

Correct Answer :-

. fGau SRS

9) YRy # S\ |1 FHH 22

1. HHYRY JHY

2. 3(eTIHId THIH

3. fg wam

4. TSN FHY

Correct Answer :-

. 3fTHTT A

10) ff3a o o1 ATURUT 91 | gEa:
N B AHIIT FrdT 7, ITPT FHHE G FRA § 1’
1. AHT B & T 9ot Hd B

2. BT Hid BT T BT MY




3. AHI0T Hid B g IH F gRIFA B |
4, AHY Hfd S BIdT & IGBT IH T B B

Correct Answer :-

« ABT B BT I I A T

11) SHg-1ROP f5T g $71 Weq &2
1. faoiarde

2. FRd® &

3. Aifh-FRU®

4. gag gm

Correct Answer :-

. fagdiards

12) foRT¥ B¢ TU-ga iR ufutfya Rt & SuR &), S/ ®T Fed 82
1. IS BT

2. T 1A

3. TET ST

4. 7] hIcg

Correct Answer :-

. G DA

13) YIS BT TS faUg w1 ghm?
1. I ATQT Y

2. XY DI I arell

3. XY P I dTell

4. XY SN I §

Correct Answer :-

« Y DI IA ardl



1. YA A ¢ &l
2. JYAfeT T AN
3. JYAfeaiqran
4. 3@ QqAfeA ¢ A

Correct Answer :-

. VIR I

15) HIYRYT 9196 6! fAfda areg & sar:

TIRAR 31 g@d 8§ g a1 31 418 At 31°

1. GIRATR Bt 3R a1 § ad Gt A1 b1 1€ 3t STt 82

2. 99 H GRRATR 7 3R SWA1 § ad Gl a1 B! TE ol 31l ¢
3. 99§ GRRATR 1 3R <1a1 § ad Gl JIal B! A1e 31 STl 5|
4. B RRITR 3 3R T@ar 3R T3 Sa1 31 a1g off SIrelt |

Correct Answer :-

. I H GRRMR 1 SR <@l § a8 o1 Il BT A1G 37 STt g |
16) ‘33TS’ B! WI! dicil A FT Hgd &2

1. SIRGR

2. HHGR

3. g Tl

4, §gd i

Correct Answer :-

17) <33d IR B WIS} Fichl A FT PEd B2
1. GO STE X

2. A BTG

3. SITd XG4l

4. SI1d Xg

Correct Answer :-

- 3MAEIE



18) fFgifya ifFm@i A P ITT22

TAd dE@H & TG BN |
TR JUIT €S B °URT 1
3 oIf &3 G Hifg «h |
Pears! aTa® 94 9] 11

1. A% X9
2. IHE
3. 4R
4. DIY Y

Correct Answer :-

19) ¥H HT AMH IdT14:

TG FF A5 & AN g e yraa”

1. I I

2. T

3. TR

4, HHU ™

Correct Answer :-

. A T

20) TS A3 &

1. S U@ & H 37 Bl Uahe Hvd g

2. ToTant UfRUTST a1 SARSAT A1 Hi &1 Yoball Bl

3. St Tt & faRiv & uap FfEra iR ufviifira srf &1 U R B
4. S Tt &1 faiy o ue FfEra oiR ufkifie ordf &l vipe T8 R B

Correct Answer :-

. o [t & foRiw 7 e A iR uRifera 3rdf &) Usbe B B

21) ‘HUC MR HUTS BT HT 7Y g2
1. OIRGT 3R TSl



2. i1 3R AT
3. HRAT 3R AT
4. RGT 3R SIS

Correct Answer :-

o T 3R ATl

. Orf

25) @ MR W pT1 3 g:



1. T 3R T
2. G 3R TR
3. GG 3R IFd

4. Il 3R g

Correct Answer :-

. Flba 3R U

26) Tl HYF IdT¢:

1. ‘TR reg; Ryt A&l # g ygur fpu sma g 1

2. “IRUT Weg Teary 3R vl & g wgur fhu S g1
3. “UTRUT Weq Rt sifdyened & g1 ygur feusma g1

4. IR 2eg Rt el &  Tgur fbu Sa g 1°

Correct Answer :-

. ORI 2sg Rk Sifiyen 7 € wgur fpu s €1
27) YR IWF S TPR A &:

1. 3G 9, faamT

2. HORT Y, faanT 3™

3. AT 9, faura 9

4. R Y, VTR

Correct Answer :-

28) g YETaRT qel1d:

sl gt e aRuaifraes &
1. fé foed

2. f&T wead

3. fe1 fagRa

4. faq saxd

Correct Answer :-

. faT foezd



29) ST | AT SrddR Tarsi:
3 9 uThd T § 48,

it & e A 3t S I

1. JfA=RNfaT bR

2. Y 3fABR

3. ¥UDH AADR
4. 3T PR

Correct Answer :-

. fazaifad SdeR

30) HToAi § fAfgd Srd®R Fars:
WRY GHd 7 94 g1, RQ fagy fa=nfy,
1 WRIA Tt gy,  USig T |rf¥

1. Y ADBR

2. D 3ABR

3. 3fifdd 3fidR

4. SUHT 3[ADPR

Correct Answer :-

Correct Answer :-

32) Sfa &1 3 g:
1. 37T, AU, STHRT



2. T, due, g1
3. 7Y, @ue, g1
4, Y, 3T, BT

Correct Answer :-

33) fevht wel | yaifE g3 &t
1, Yqemd
2. Rragd
3. SIAR
4. TSI

Correct Answer :-

34) ARG HT ATATRIS 378 w1 g2
1. IR (G BT BR

2. IR B! BT YHER

3. AR QI BT GHABR

4, ARG

Correct Answer :-
. IR Gl BT JAEGR

35) G-I 5T T &7 2eq &2

1. faadtarde

2. e fFRd®

3. Aifp-FRU®

4. 9aG gH

Correct Answer :-

36) TG AT P I AT | dGfIg



«“3 BT 3R F 7 T 1

1. 39 Hg1 I F . A

2. 3B Hg I F 9 T

3. T A 1 39S dgH 9|

4. SR B 39 g1 99 g H 9 T

Correct Answer :-

. 3P HE I H AF T

37) U8 e sy 8:

HIIdT & AT-UTG B IET e g 1’
1. UdTg AR fHy

2. TOIRT UG fgad!

3. ggTed! adf

4. 3T THTS YA

Correct Answer :-
- TR IEES Yol
38) 9 A1 & fIY T Weg TS
“for T 1 5 wah
1. SR
2. 3T
3. 3=IHd
4. 3HRAA

Correct Answer :-

39) 39 AT & foIY T Weg TellST:
«foret qroft ared T HR T

1. 3

2. 3RATHT

3. JffHara-g



4. 3ffYa=HIg

Correct Answer :-

40) A 91 B VY a1 | g
«gg U & 3IATal e Ht a2 1”

1. 98 UGdT & 3R 3rgeR ff ST B
2. ggdr Ht 8 iR sraeR ft sgar 8|
3. Siafe 98 Ugar Y fbr +f ergaR ot sTar g |
4. U~ & 1Y 98 3rGaR Yl sFar g

Correct Answer :-

. 98 Ugdl g 3R 3RgeR Y ST 2|

41) <op &1 R U< @

LTS
2. fomrfor

3. o
4. 9=

Correct Answer :-

42) TR P fIay e @
1. dUsT
2. 3T
3. frfeg
4, frfg

Correct Answer :-



1. WS HIY
2. Hiadl
3. Hl HIA

4, dlch

Correct Answer :-

45) 98 faPey garsa-

FafRry fawa, 9 fagm, o onfe &Y aw-ite! siftreafa & fore fifda sruar fafRry o o wgea
HEEIGR -

1. 9P Usg HEAd &
2. UTRHTNP st HEdTd &
3. TN ¢ Yok HEaAd &

4. ¥¢ VoG HEAd &

Correct Answer :-

. TR Teg Hrad

46) Tg! fawe gfu:

HeToTe 3R WU BTy | THI &0 ]
1. YT Rl SURIYH |

2. HUYDHYT FURIYA|

3. 33T SUTRITTAT|



4, PYh SUTRITY|

Correct Answer :-

o PYHh FUTRIYA|

3. Yfeqd U
4, 3=MTecd HTST

Correct Answer :-

. 3o HTHT

48) Tg! faspey garsn:

Qe &) frd I &1 JUTe $8T AT 82
1. I

2. IR

3. R ™

4. Yfqa 39

Correct Answer :-

. qHE Y

49) OE! fawey A a1y &1 gfd o
HEYUT H UTG-RET qUT T S IGT A1 ¢
1. JANRD- Gl

2. JAIND-IGdl

3. JAIRG- ARGl

4. ORIOTH TGl

Correct Answer :-



50) el faweu & ares &t gfid :

Hergur § fawg &t D g1 QAT AT
1. Tl ud gofdr

2. G T4 gutar

3. gaHedl U9 guid

4. JEHIG Td 3quid

Correct Answer :-

« FURIG T gufer

51) Ja! faweq Iarg:

TR B} SARAT S PRUISTATERIAY I Id@M gt gl
1. I

2. Q=

3. Yida ™

4. 51

Correct Answer :-

. IXY

52) ¥&! faweu qarg:

39 AfHT B faora &1 THAR Ao YRAR@Ai A 1
1. B9 A

2. R T R STells

ANEACUESKILY

4. ¥ & f&d ey

Correct Answer :-

« ¥ fag Sremg

53) wﬁﬁwm

oL ot =g fraar o THeneh Sue gl
1. B H dd Tl STerdt

2. B IR I ol Sl




3. BT W Y gl el

4. 1 W g1 93t

Correct Answer :-

« B R 5 Tl

54) <3fteAr 3R ‘3fer s 3 §
1. TR 3R T

2. QT 3R AT

3. fOFIQT ST FHRAT 3R WA

4, NP 3R e

Correct Answer :-

o {8 31eT BT 3R Qe

55) fifSar Tafia werd USRI g2
1. HIgTe

2. Rragd

3. RIIG

4. TGS

Correct Answer :-

56) TR BT Y ga13T

R | T &1 g, gfear aekt AP
1. 74 gHII

2. Y &1 e s

3. BY NG Y g~ g1

4. GHS HATI

Correct Answer :-

. & o1 feRamar BT

57) HgTar &1 3 garsd



«Iggt el HIATI”
1. §gd YHBH|

2. 9gd HRAT

3. §gd &M

4, 9gd SieT|

Correct Answer :-

58) ‘gedipa’ H B JT A 82
1. HFHYRYT TAN

2. Gg A

3. fgy oar

4, IGSY AT

Correct Answer :-

59) Yo R &t gfef H:
fAurrd | e gedi g
1. &3 TEAQ

2. IR =Y

3. 3fidfeleh TTIY

4. ARG IFATE

Correct Answer :-

S HUERERIY

60) forrd fonelt T 1 9uf= e & o ST B, 99 T Fed B2
1. G8 I

2. Ug pIg

3. Hel hIH

4. g d1d

Correct Answer :-



61) 39 U B! &UH | U¢ 3R 12 fau ¢ g 13w &

SISt Ad 31U 3, JH He g,
Hd P 39 W, Hd SHH BT S¢|
3 IR 78 9IRS $6 tRAT B,
AT § o, TP B IR AT 3

TH U WU & G&@ W, O R X,
ST @ o FRA | T8 8% ¥

TY: 39 ST $T e fafau|
1. STETHA

2. 9HS

3. Silad

4. 14

Correct Answer :-

62) 39 U B! LU | U¢ 3R 1 fau ¢ g 1 3ww &

SISt Ad 3U=T 3, HH Fe g,
A P 39 W, Hd SHH BT oY |
3 TR T8 YIRS $6 RAT €,
AT § oI, TP B IR AT 3

9 W4 WRUT & T& R, W7 &R ¥,
ST @ o FRA | e 8% ¥

Y g & fawg # &fa &1 w1 foar @2

1. Bfd BT A § P TG T & IR 31l § 3R I 531 e =nfeu
2. Hfd T 9 8 o TG U & IR 31ielt § 3R I =1 =nfgu|

3. B4 BT A ¢ b T TR-IR 3T § 3R I A1 81 Anfeu|

4, 1A BT HA ¢ fb TG IR-IR 3Tclt § 3R IY ST 6] AN

Correct Answer :-

. HAHIAA G [ Ig TP §1 IR 317l § SR ST S31 Ta1 Mg



63) 39 U ) & A U 3R I fw ey 13" <

Bis! Ad UL 3, JH Fe g,
A P! 3T W, Hol SH e SY|
3 TR T8 TR $6 Rl §,
AT g S, TP &1 IR A= 5

TH W94 WU & J&@ R, TWUT R,
ST @ o "R @ TET S0 Y

uY: 39 Ufdaal o1 Hig ford

1. TS &1 SHTHTHH S WD g] o1 dfed, Fifh G IR- TR 37Tl 5, 399 HaHd g1 arigul
3R A &1 ST g Al §eg b TRISTd BHRab o1 AR |

2. TS P 3T ATETH DI Wz ST dTfed, i T Rt T IR ol 3, 39 yaafid gt
BT AIRRT | 3R TS P TRAT § I Siia- &1 TRIfoTd $Rah AT Mg |

3. T ) Bt SO ST o) W g o1 913, Fiifes Ty Rt U IR ot 8, 399
YU T T AU | SR A & ST § al g ! IRISTId B b SitT gy |

4, TS0 DI H 3O ST BT W ST A1l Fifes Jg Rt Th R oielt 7, 399 v
Tt BT RN | 3R A & TRAT 8 o Jog Pl TR HRap ST e |

Correct Answer :-

o« T B HH 3T ATETHE DI Wz et ST ey, Fifer g7 Rt ter IR 3t ], 399
i T ST AU | SR A & ST § al g D! IRISTId B SitT gy |

64) 39 UL B M 9 U MR - feu ¢ vz 13wk 3

Bist Ad UL 3, JH Fe g,
A P! 3T W, Hol S e AY|
3 9R &) THRIS $6 WA T,
AT § &, TP Bt IR 7T g

TH W94 R & J&@ WX, T R,
ST A IA A T s

TY: “HRVT & YA TR TROT R} | B &1 o areud 82
1. Hfq &1 1Y ¢ s 78 Hia I S Rfh Ard 9 Tt SA B |
2. TRUT & 0@ IR 9R0T &R I Hid BT A ¢ b I8 T I 18X 3HfUg Hid B 30 I F He |

3. TRUT & 0@ IR 9R0T &R J Hid BT Y ¢ b I8 HId 1 SR faegg oita D1 S0 a1 J x|
4. A B ATEAT & DI Y 3T BIR § I8 JG HT WA 3|

Correct Answer :-

. TR % TE TR RO &R) Y S &1 qread g o ag Hid I =1 3% S1fUg Hid &1 S0 a1 J x|



65) 39 T $I 9 A U 3R - e T Y= H13«R &

% 37 SSTa Vel | o T6T UT1 3T I 7 ufgrat & iR gU v 3@ | I9A 39 vl &)
YADR Uehdl [T | T d Ul 1 a8 30 83 o STAT| ST U] D Ueh & &HUR HTd 3@
fip= I 3% A9 @ fRIusTaT| 59 YR 391 UGl 31 U ST a917 3R I8 3U-1 gigl A v
foran | FsTa ufafes S=ift avg vl 3 YR BT U1 98 ufdafe uferal ) avg v RIReR
IS BT WY BT AT

TY: UGl B ST  forad fagerar
1. UGl ! SSed A 19 Y feuemn

2. UGl BI SSTaY A TG 9 fFaubm|

3. Ul Bl STy A =it J fauemn|

4. UGl &1 Sy A drad ¥ g

Correct Answer :-

« UG &l ST A 919 9 Ruem|

66) 3 el P &4 ¥ U¢ 3R - few e uwq #13«R &

o 3 SSTa Wl I ToR YT 4TI 384 IR § uféral & R gU va 3@ | 39+ 3 Ui ot
FABY U fHaT| THIAT Udl Dl 98 U TR A 31T 39 GEI B TP & HUR TP JATH
@1 fpR 394 I H9 9 Ruern | 59 YR 394 Udl 31 Te SISl 9917 3R 32 3 aigl A
o foram | FeTer ufafe =it avg v@) &) YR Har AT 98 ufafe uféra) @t avg v
TAR®R 381 BT ST BT UT|

UY: SSTaY A U@l &1 F1 fapar

1. SSTAY = U BT SISl VRIGT 3R 3 ST dig! & e form|
2. ST = UG} T SIST ST 3R I 370 SR H o fera|
3. ST A UG 1 SiveT ST 3R 38 31U+t aifgl & e fera|
4. ST A G T SST 1T 3R I 310+ dia § w fera |

Correct Answer :-

. ST A UGl BT SST I1T 3R I8 MU+ sigl H o fera|

67) $H T $I 9 A U¢ 3R 4 g T Yy +13«R &



TS 3 ST Gl | R ¥T U1 39+ I | ufdrdt & iR gU v 3@ | 39 39 vl &)
AP UH A (5411 THHAd UEl 3 98 U T o 3T S U] &I Th & SHUR TP AAH
@11 fiF ITA I 7N A fRIusmr | 39 UoR 391 U] &1 U9 SisT 9917 3R 3 U1 aigl &
o o | ST ufafee o=t ave Ul 1 YIRr HdT U1 98 ufafe ufar Y ave v
TAR®R 381 BT ST HdT UT|

TY: SSTa™ UfafeT &1 ST 41?2

1. SSTAY Ul YR ) RE U7 TIRSR IS BT 311 el UT|
2. STy Ufafe Uféril & aie U TUR®R IS BT ST Bl |
3. ST UfAfe T Pt IR U TIRDR IS B ST Bl |

4. SSTAY UfAfeT PId BT a8 TG TURBR IS BT 33T HaT T

Correct Answer :-

. STy ufafe ufers ot TRE U9 TIRSBR I8 & 311 BT UT|

68) 3 el P &9 A Ue 3R - few e uq #13«R &

o 3 SSTa Wl I o YT 4TI 391 IR § uféral & R gU va 3@ | 39+ 3 Ui ot
TABY U fHaT| THIAT UEl Dl 98 U TR A 31T 39 GEI B TP & HUR T JATH
@1 fp IUA 3% H9 9 Ruern | 59 YR 394 Udl 31 Ue SISl 9917 3R 32 3 aigl A
o foram | FeTer ufafe =it avg vl &) YR Har AT 98 ufafe uféral @ avg v
TAR®R 381 BT W HdT UT|

UY:-UH A Ul BT ssiad A w1 foan?
1. U Ad UGl &1 98 TSIl & TR o 37|
2. Uh13d UGl &1 98 30+ TR o 37|

3. Uh1Ad Ul &1 98 SR o S|

4. ThAd Ul I I8 GRoil o U o 37T |

Correct Answer :-

- U UGl ol 98 310 TR < 3T

69) Y I &I A I Ue 3R T g me 7 F13wR &

T 3 SSTa Wl | R T6T 4T 39 T & uferat & R gU v 3@ | I9A 39 vl &)
AP U A (6411 THAd vl 3 98 (U4 T o 3T 394 Ul &1 T & SUR TP AoITh
@1 fihr 3T 32 AN | fRIusTan| 39 UoR 394 U] &1 U SIST 99147 3R 3% (U= aigl #



o foran | STy ufafe st avg UEl & YRUT SdT UTI 98 Ufafes uféral 91 a3 va
TAR®R 381 BT ST HdT UT|

TY: SSTAY A I § 1 @12

1. SSTAY A I H B & TR §TUE ¢4 |

2. STy I H ufardi & R gu e < |
3. SS9 A I A U8 )R IR gU i@ <9 |

4, JSTAY A I B YR & AR guv@ 34|

Correct Answer :-

. SSTAY A IR | uférdl o R g U ¢ |

70) SH UL H! U A U R A1 R M ys A #13=R &:

Bis! Ad 3MUAT 3, JH Fe g,
HA P! 3T W, Hol SH e Y|
3 IR 78 9IRS $6 tRAT R,
AT 3 S, TP &1 IR A= 5

T W94 WU & J@ W, TRT R Y,
ST @ o FRA | g s % ¥

UY: HTd 7T IR ¢ ¥ET 82

1. B = AT B! GHUS P 1Y S &1 IR S 7|

2. HIA A TS Bl ST & 1Y S BT IROM S} ]
3. Hid A T DI AT & 1Y S &1 IR0 & g
4, HIA A AT P SETHA & A1 S $1 IR0 &1 5|

Correct Answer :-

. AT T B SHTHTHM S I S F IR B

Topic:- General English

1) Choose the appropriate articles for the given sentence:

She painted beautiful scenery in water colors while sitting in garden.
1. g, the

2. the, a



3. the, the

4. an, a

Correct Answer :-

e 3,the

2) Choose the appropriate preposition for the given sentence:

You have been learning a new song three days.

1. for
2. since
3. by

4. in

Correct Answer :-

o for

3) Choose the appropriate preposition for the given sentence:

The child is quite cheerful and happy his own.

1. at
2. 0n
3. with

4, about

Correct Answer :-

4) Choose the appropriate preposition for the given sentence:

The buyers have asked us heavy discounts.

1. at
2. 0n

3. from

4. for

Correct Answer :-



5) Choose the appropriate prepositions for the given sentence:

Let'sgo__ thecinema.l haven'tseenafilm__ 1979,
1. to, since

2. with, from

3. on, for

4, for, till

Correct Answer :-

e to, since

6) Choose the appropriate articles for the given sentence:

She went to the market to purchase few groceries and kilogram of apples before
returning home.

1. the, a
2.3,a
3. the, the

4, a, an

Correct Answer :-

7) Choose the appropriate articles for the given sentence:

Another growth trigger for power sector has been
government in 2003.

Electricity Act formulated by the

1. g, the
2. the, the
3. an, the

4, the, an

Correct Answer :-



8) Choose the appropriate usage to fill in the blank:

In spite of the heat, they marched
1. quickly

2. with speed

3. humbly

4. fastly

Correct Answer :-
e quickly

9) Choose the correct form of verb for the given sentence:

It that Lee Harvey Oswald may not have acted alone in the assassination of John Kennedy.
1. believe

2. is the beliefs

3. is believed

4, to believe

Correct Answer :-
e is believed

10) Choose the correct form of verb for the given sentence:

The giraffe survives partly because it the vegetation in the high branches of trees where other
animals have not grazed.

1. must reach
2. is reaching
3. can reach

4, needs to reach

Correct Answer :-

e canreach

11) Choose the correct form of adverb for the given sentence:

The property was divided among all his children.

1. definitely



2. surely

3. fairly

4. infinitely
Correct Answer :-
 fairly

12) Choose the correct form of adverb for the given sentence:

The place where Buddha was cremated has been discovered
1. recently

2. calmly

3. frantically

4. grimly

Correct Answer :-

e recently

13) Choose the correct form of adjective for the given sentence:

You can trust my driver. He is hard working and
1. considerate

2. gentle

3. reliable

4, kind

Correct Answer :-
e reliable

14) Choose the correct form of expression to complete the sentence:

It is difficult to guess what her ______ to the news would be.
1. expressions

2. intention

3. reaction

4, ideas



Correct Answer :-

e reaction

15) Choose the correct form of expression to complete the sentence:

It is terrible that people should dieof ____
1. starvation

2. fasting

3. starving

4. hungry

Correct Answer :-

e starvation

16) Choose the correct form of adjective for the given sentence:

He didn't know anyone at the wedding than the bride and the groom.

1. except
2. rather
3. apart

4. other

Correct Answer :-
e other

17) Choose the correct form of modal auxiliary verb for the given sentence:
| have gone if my car had been in a working condition.

1. might

2. may

3. can

4. must

Correct Answer :-



18) Choose the correct form of tense for the given sentence:

I___all mywork and so | am free until Monday.
1. was doing

2. have done

3. am doing

4. had done

Correct Answer :-
¢ have done

19) Choose the correct form of tense for the given sentence:

He___ herein 1955.
1. has been working

2. worked

3. is working

4, works

Correct Answer :-
e worked

20) Choose the correct form of tense for the given sentence:

I'm sorry about this noise you hear. She ___ for a concert.
1. practices

2. is practicing

3. has practiced

4. would practice

Correct Answer :-

e is practicing

21) Choose the most suitable determiner for the given sentence:

To look smarter, wear your dress.

1. white new cotton



2. new white cotton
3. white cotton new

4, cotton white new

Correct Answer :-

e new white cotton

22) Choose the most suitable determiner for the given sentence:

He is very demanding; | have _____ patience left to deal with him.
1. more

2. no

3. much

4. any

Correct Answer :-

23) Choose the best sentence starter from the given options:

It was a public holiday. All shops were closed.
1. While

2. Asitwasa

3.Justasitwasa

4. Even though

Correct Answer :-
e Asitwasa

24) Choose the appropriate articles for the given sentence:

The BPOs remain popular choice for younger generation as it offers numerous job
opportunities.

1. a, the



Correct Answer :-

e 3, the

25) Choose the correct form of tense for the given sentence:

Drink your medicine; you much better.
1. will have felt

2. will feel

3. are feeling

4, feel

Correct Answer :-

o will feel

26) Read the passage carefully and answer the question given below:

Utrecht, the fourth largest city in the Netherlands, is a cyclist’s dream. Unlike other urban areas
that confine riders to tiny lanes, cyclists here get priority with dedicated “bicycle streets” where
cars are considered “guests,” as well as special bike tunnels and bridges. The city is also in the
process of constructing the world’s biggest indoor parking lot for bikes at its central train

station. However, the over 60 percent residents who use the two-wheelers as their primary mode
of transportation are still frustrated because, like cyclists all over the world, they have to make
constant stops at traffic lights.

To ease their pain, Jan-Paul De Beer, head of local design firm Springlab, has come up with an
ingenious solution — electronic kiosks that help riders sync up their speed with the onset of a
green light. The tall blue structures, called Flo, are strategically placed about 120 meters (393
feet) before a traffic signal. They capture the rider’s speed using a radar and let him/her know
whether to slow down, pedal harder, or maintain the same pace.

Flo’s first prototype featured LED lights that would light up in sequence to show the ideal speed.
However, this turned out to be dangerous since riders began focusing more on the lights than on
the road ahead. But since people seemed to enjoy the idea of “outsmarting the traffic signals,”
the designers decided to incorporate a fun gaming experience in the next version.

When a fast rider zips past a Flo kiosk, it will signal him to slow down by displaying a tortoise.
Conversely, a slow cyclist will be encouraged to pick up the pace by a hare, while those cruising
along at the perfect speed will be rewarded with thumbs up sign! Whenever possible, Flo also
communicates with the traffic lights to turn them green allowing the cyclist to breeze through.
In cases where the red light is inevitable, Flo will flash the image of a cow, letting the rider know
that he/she has little choice but to wait it out.



De Beer says, "We chose animals because a hare and a turtle are universal symbols for high
speed and slow pace. A cow, however, is a new symbol, because we couldn’t find a playful,
widely known symbol for waiting. We chose a cow because when you go on holiday to France,
which every Dutchman does, you often find yourself waiting for cows blocking the road.”

www.dogonews.com

Question: The underlined word, ingenious’ in Paragraph 2 means:
1. Rare

2. Mundane

3. Extraordinary

4. Original

Correct Answer :-

e Original

27) Read the passage carefully and answer the question given below:

Utrecht, the fourth largest city in the Netherlands, is a cyclist’s dream. Unlike other urban areas
that confine riders to tiny lanes, cyclists here get priority with dedicated “bicycle streets” where
cars are considered “guests,” as well as special bike tunnels and bridges. The city is also in the
process of constructing the world’s biggest indoor parking lot for bikes at its central train

station. However, the over 60 percent residents who use the two-wheelers as their primary mode
of transportation are still frustrated because, like cyclists all over the world, they have to make
constant stops at traffic lights.

To ease their pain, Jan-Paul De Beer, head of local design firm Springlab, has come up with an
ingenious solution — electronic kiosks that help riders sync up their speed with the onset of a
green light. The tall blue structures, called Flo, are strategically placed about 120 meters (393
feet) before a traffic signal. They capture the rider’s speed using a radar and let him/her know
whether to slow down, pedal harder, or maintain the same pace.

Flo’s first prototype featured LED lights that would light up in sequence to show the ideal speed.
However, this turned out to be dangerous since riders began focusing more on the lights than on
the road ahead. But since people seemed to enjoy the idea of “outsmarting the traffic signals,”
the designers decided to incorporate a fun gaming experience in the next version.

When a fast rider zips past a Flo kiosk, it will signal him to slow down by displaying a tortoise.
Conversely, a slow cyclist will be encouraged to pick up the pace by a hare, while those cruising
along at the perfect speed will be rewarded with thumbs up sign! Whenever possible, Flo also
communicates with the traffic lights to turn them green allowing the cyclist to breeze through.
In cases where the red light is inevitable, Flo will flash the image of a cow, letting the rider know
that he/she has little choice but to wait it out.



De Beer says, “"We chose animals because a hare and a turtle are universal symbols for high
speed and slow pace. A cow, however, is a new symbol, because we couldn’t find a playful,
widely known symbol for waiting. We chose a cow because when you go on holiday to France,
which every Dutchman does, you often find yourself waiting for cows blocking the road.”

www.dogonews.com

Question: What is the main function of the Flo?

1. All of the above

2. Lets the rider know whether to slow down, pedal harder only

3. Lets the rider know if he/she has to maintain the same pace only

4. Flo captures the rider’s speed using a radar only

Correct Answer :-

e All of the above

28) Read the passage carefully and answer the question given below:

Utrecht, the fourth largest city in the Netherlands, is a cyclist’s dream. Unlike other urban areas
that confine riders to tiny lanes, cyclists here get priority with dedicated “bicycle streets” where
cars are considered “guests,” as well as special bike tunnels and bridges. The city is also in the
process of constructing the world’s biggest indoor parking lot for bikes at its central train

station. However, the over 60 percent residents who use the two-wheelers as their primary mode
of transportation are still frustrated because, like cyclists all over the world, they have to make
constant stops at traffic lights.

To ease their pain, Jan-Paul De Beer, head of local design firm Springlab, has come up with an
ingenious solution — electronic kiosks that help riders sync up their speed with the onset of a
green light. The tall blue structures, called Flo, are strategically placed about 120 meters (393
feet) before a traffic signal. They capture the rider’s speed using a radar and let him/her know
whether to slow down, pedal harder, or maintain the same pace.

Flo's first prototype featured LED lights that would light up in sequence to show the ideal speed.
However, this turned out to be dangerous since riders began focusing more on the lights than on
the road ahead. But since people seemed to enjoy the idea of “outsmarting the traffic signals,”
the designers decided to incorporate a fun gaming experience in the next version.

When a fast rider zips past a Flo kiosk, it will signal him to slow down by displaying a tortoise.
Conversely, a slow cyclist will be encouraged to pick up the pace by a hare, while those cruising
along at the perfect speed will be rewarded with thumbs up sign! Whenever possible, Flo also
communicates with the traffic lights to turn them green allowing the cyclist to breeze through.



In cases where the red light is inevitable, Flo will flash the image of a cow, letting the rider know
that he/she has little choice but to wait it out.

De Beer says, "We chose animals because a hare and a turtle are universal symbols for high
speed and slow pace. A cow, however, is a new symbol, because we couldn’t find a playful,
widely known symbol for waiting. We chose a cow because when you go on holiday to France,
which every Dutchman does, you often find yourself waiting for cows blocking the road.”

www.dogonews.com

Question: What is the uniqueness of Utrecht?
1. It is a cyclist’s paradise only

2. Cyclists here get priority only

3. All of the above

4. Four-wheel drivers are considered to be guests only

Correct Answer :-

o All of the above

29) Read the passage carefully and answer the question given below:

Utrecht, the fourth largest city in the Netherlands, is a cyclist's dream. Unlike other urban areas
that confine riders to tiny lanes, cyclists here get priority with dedicated “bicycle streets” where
cars are considered “guests,” as well as special bike tunnels and bridges. The city is also in the
process of constructing the world’s biggest indoor parking lot for bikes at its central train

station. However, the over 60 percent residents who use the two-wheelers as their primary mode
of transportation are still frustrated because, like cyclists all over the world, they have to make
constant stops at traffic lights.

To ease their pain, Jan-Paul De Beer, head of local design firm Springlab, has come up with an
ingenious solution — electronic kiosks that help riders sync up their speed with the onset of a
green light. The tall blue structures, called Flo, are strategically placed about 120 meters (393
feet) before a traffic signal. They capture the rider’s speed using a radar and let him/her know
whether to slow down, pedal harder, or maintain the same pace.

Flo's first prototype featured LED lights that would light up in sequence to show the ideal speed.
However, this turned out to be dangerous since riders began focusing more on the lights than on
the road ahead. But since people seemed to enjoy the idea of “outsmarting the traffic signals,”
the designers decided to incorporate a fun gaming experience in the next version.

When a fast rider zips past a Flo kiosk, it will signal him to slow down by displaying a tortoise.
Conversely, a slow cyclist will be encouraged to pick up the pace by a hare, while those cruising



along at the perfect speed will be rewarded with thumbs up sign! Whenever possible, Flo also
communicates with the traffic lights to turn them green allowing the cyclist to breeze through.
In cases where the red light is inevitable, Flo will flash the image of a cow, letting the rider know
that he/she has little choice but to wait it out.

De Beer says, "We chose animals because a hare and a turtle are universal symbols for high
speed and slow pace. A cow, however, is a new symbol, because we couldn’t find a playful,
widely known symbol for waiting. We chose a cow because when you go on holiday to France,
which every Dutchman does, you often find yourself waiting for cows blocking the road.”

www.dogonews.com

Question: Why has Flo chosen to flash the image of a cow?

1. Cows are often considered to be speed braking objects on the road.

2. A hare and a turtle are ancient symbols for high speed and slow pace.
3. Cow is the national animal of the country.

4. The Dutchmen worship the cow.

Correct Answer :-

» Cows are often considered to be speed braking objects on the road.

30) Read the passage carefully and answer the question given below:

Utrecht, the fourth largest city in the Netherlands, is a cyclist’s dream. Unlike other urban areas
that confine riders to tiny lanes, cyclists here get priority with dedicated “bicycle streets” where
cars are considered “guests,” as well as special bike tunnels and bridges. The city is also in the
process of constructing the world’s biggest indoor parking lot for bikes at its central train

station. However, the over 60 percent residents who use the two-wheelers as their primary mode
of transportation are still frustrated because, like cyclists all over the world, they have to make
constant stops at traffic lights.

To ease their pain, Jan-Paul De Beer, head of local design firm Springlab, has come up with an
ingenious solution — electronic kiosks that help riders sync up their speed with the onset of a
green light. The tall blue structures, called Flo, are strategically placed about 120 meters (393
feet) before a traffic signal. They capture the rider’s speed using a radar and let him/her know
whether to slow down, pedal harder, or maintain the same pace.

Flo's first prototype featured LED lights that would light up in sequence to show the ideal speed.
However, this turned out to be dangerous since riders began focusing more on the lights than on
the road ahead. But since people seemed to enjoy the idea of “outsmarting the traffic signals,”
the designers decided to incorporate a fun gaming experience in the next version.



When a fast rider zips past a Flo kiosk, it will signal him to slow down by displaying a tortoise.
Conversely, a slow cyclist will be encouraged to pick up the pace by a hare, while those cruising
along at the perfect speed will be rewarded with thumbs up sign! Whenever possible, Flo also
communicates with the traffic lights to turn them green allowing the cyclist to breeze through.
In cases where the red light is inevitable, Flo will flash the image of a cow, letting the rider know
that he/she has little choice but to wait it out.

De Beer says, "We chose animals because a hare and a turtle are universal symbols for high
speed and slow pace. A cow, however, is a new symbol, because we couldn’t find a playful,
widely known symbol for waiting. We chose a cow because when you go on holiday to France,
which every Dutchman does, you often find yourself waiting for cows blocking the road.”

www.dogonews.com

Question: In spite of all facilities provided in Utrecht, what is the major complain of residents?
1. Since 60% of the people use cycles, the place has traffic jams.

2. All of the above.

3. They have to make constant stops at traffic lights.

4. They are demanding special bike tunnels and bridges.

Correct Answer :-

o They have to make constant stops at traffic lights.

Topic:- General Knowledge

1) Find the missing term in the given matrices./ fet 7T A4fte ¥ qw ug 3 #¢|

5|1 5|2
g8 | 3|10
2 | 4 |1
160 | 120 ?
1.13
2.20
3.40
4,12

Correct Answer :-

. 40



2) If the third day of the month was Monday, then which day will fall on

fourth day after 215t/ afe 48 &1 TRRT T THaR 41, 91 219 A F g ANUT =
I TR

1. Wednesday/ gYdR
2. Tuesday/ HITAR

3. Friday/ YshdRR
4. Monday/ THaR

Correct Answer :-
« Tuesday/ HIAAR

3) In the following question, select the related letter/word/number from the

%ggn alternatives. /fA=fafad uea d faw e fawenl A @ wwafRe sier/=eg e ot
|

AB: 12 ::EF:?
1.31
2.46
3.42

4. 56

Correct Answer :-

4) In the following question, select the related letter/word/number from the

given alternatives./ fAfiRaa uza # fau e faweul # Q iR sieR/r= S &
BRI

BRAIN : THOUGHT::/ Af&r : fdar ::
1. Stomach : Hunger/ 0T : Hg

2. Sky : Lighting/ 3T : =T

3. Electricity : Dynamo/ ﬁgﬁlﬂ . ST

4. Water : Steam/ 9d : dig

Correct Answer :-

« Stomach : Hunger/ U< : Hg



DIRECTIONS: Solve the alphanumeric series given below:/ ﬁi‘-‘&: T-ﬁ%?ﬁl'l’sf &R
yaar Aofl B g Be:

J6X, L12V, 020T, S30R, ?
1. X42P
2. X40P
3.Y42P

4. Y40P

Correct Answer :-

« X42P

6) Select the correct combination of mathematical signs to replace * signs

and to balance the given equation./ * ﬁa‘raﬁaaaﬁ%ﬁmaﬁ?ﬁqwmﬂmmﬁ
Hqfera w3 & forg frdia dddl &1 a8l S g4 |

28 ¥ 4 ¥ 9 *x 16

7) Which of the following is the greatest fraction? /= # 4 ¥ad 81 i St 82

5

=] | b2 W | L

Wil =

4.

Correct Answer :-



8) Which figure represents the exact relationship with the variables given in

questions? /®IRI 3THfd wy # AT v srqual & Hf¥a ddu ) gxifdt 82

©
EeRGIe

Teacher, Writer, Philosopher/ ﬁrw, ﬁw, a'I'SZfﬁ-I'CF

(A)

1.D
2.B
3.C

4. A

Correct Answer :-

e A

9) Umesh is taller than Satish, Suresh is shorter than Neeraj but taller than
Umesh. Who is the tallest among them?/ B'ﬁ'ﬂ, mﬁmﬁw%, ghrr, HRw
Pt g1 H BleT 3 g SUY A TE1 3 | 379 GaA a1 i 32

1. Neeraj/:ﬁﬁf
2. Suresh/{ﬁ"\’r
3. Umesh/30I
4. Satish/SdI<T

Correct Answer :-

« Neeraj/=Rsl

10) Mehrunnisa is eleventh from both end of a row comprising of girls. How

many girls are there in the row?/ ﬁmﬁmﬁwﬁﬁﬁﬁ?ﬁw
M R 3| ufaa o fpa-it asfear g2

1. Nineteen/ JA
2. Twenty—one/'s{ﬂ&ﬂﬂ

3. Twenty-two/ a@

4. Twenty/ &1



Correct Answer :-

« Twenty-one/ a9

11) Point out the letter which represents both Indians and historians but not
Politicians on the basis of these three circles./ sqeﬂq‘r‘qa%&rrwwwaﬁaﬁ
3T & ot YR 3R sfasre Rl Q1A &1 g=itar 8 Wiy Iemarsit & A8t |

1. Only b/ &dd b
2. Only f/ &ad f
3.band f/ b 3R f
4.band g/ b 3R g

Correct Answer :-

« Only b/ #dd b

12) ‘Swaraj is my birthright and I shall have it’, this is a famous saying by -

/' TERTST IRT SR SRR 8 8 # 59 awx g, frw g safaa 3 wer Um?
1. Bal Gangadhar Tilak/ T TR fadd

2. Netaji Subhas Chandra Bose/ =dTsil gHTY 9% aN

3. Jawaharlal Nehru/ STaTgR d1d A6

4. Gopal Krishna Gokhale/ TUTel 0T TTRg

Correct Answer :-

. Bal Gangadhar Tilak/ Td TMeR focid

13) The cost price of 400 lemons is equal to the selling price of 320 lemons,
then the profit percent is:/400 -1g3ii &1 Hage 320 g3 & 3. 7, S WERE, @
PIGRIGRS IR GG |

1. 20%
2.40%

3.25%



4. 15%

Correct Answer :-

e 25%

14) The Betul district is the source of the River — / @ forem #14- wt 7t w144
8?

1. Tapti/ arat
2. Machna/ Hd41
3. Beas/ 99

4. Tawa/ ddl

Correct Answer :-

« Tapti/ drGil

15) Which country is called the ‘Sugar Bowl of the World'?/ fPasu ol Ay =1
RGBT BT BERT' HET STl 82

1. Brazil/ sifora
2. Ghana/ Y-l

3. Cuba/ HdI
4. Peru/ U=

Correct Answer :-

16) 4 bells ring at intervals of 30 minutes, 1 hour, 1 hour 30 minutes and 1
hour 45 minutes respectively. All the bells ring simultaneously at 12 noon.
They will again ring simultaneously at:/4 ©fedal w4 30 fiFe, 1 Her, 1 He130
e quT 1 YeT 45 e & siavTa wR ot 8 1 9t 'feaf v 1y 12 s glugR A weit ), it @
UH: T 1Y $F goiii?

1.9 am./ Gaigd 9 &l
2.3 a.m./g?:lf_e!:[ 3§
3.6 a.m./ Jdig 6 ¥
4.12 a.m./ Qg 12 &1

Correct Answer :-

« 9am./ Jdlgd 9 &



17) The folk songs of Birha is sung in the region of - / fSRe1 @® fia $I9- T & A
TITIT 7T 82

1. Malwa/ HIddl

2. None of these/%’qﬁ@aﬁ%ﬁ
3. Baghelkhand/ SUTRaUS

4. Bundelkhand/ gaerds
Correct Answer :-

. Baghelkhand/ SUcaUS

18) In a certain code 'SUBJECT' is written as '"ATRIUDF'. How is ORDINAL
written in that code?/ T& fAf3d $e A 'SUBJECT' &) 'ATRIUDF' for@rimar g | ot 3t
PTHTITH 'ORDINAL" & frd U ferar smrawm?

1. CQNHBMO
2. ESFHMBO
3. CQNHMBO
4. NQCHMBO

Correct Answer :-

« CQNHMBO

19) Where is the Kala Vithika situated?/ &1 difie®T Hgl (R 82
1. Indore/ 'a'a?

2. Gwalior/ TaTferiR

3. Bhopal/ HIuTd

4. Jabalpur/ SddYR
Correct Answer :-

. Gwalior/ WIfeRRR

20) Who was the first Gupta ruler?/ W4¥ [ TH® B A?
1. Samudragupta/ &

2. Chandragupta ‘Vikramaditya’/ & 'fasarfaa

3. Chandragupta/ 57



4. Kumaragupta/ $HRIW
Correct Answer :-

« Chandragupta/ I&

21) When was Dindori declared as a separate district?/ &Y & sra foran w9
ofva far T 42

1. 1996
2.1997
3.1999
4. 1998

Correct Answer :-

- 1998

22) When was the Anglo-Bhopal treaty signed between the East India
Company and Nawab Nazar Muhammad?/ 3% f$31 $U-l 3R 7919 ToR Ygrie &
g Ta- 1T i IR gRaTeR & fha e A

1.1818
2.1817
3.1819

4. 1816

Correct Answer :-
« 1818

23) What is the capital of Vietnam?/ fdadam &1 I a1 82

1. Lusaka/ qdThT
2. Nicosia/ IBCAIREI

3. Hanoi/ S;ilé
4. Caracas/aﬂw

Correct Answer :-

. Hanoi/EFﬁ'sc



If a train with a speed of 60 km/ hr crosses a pole in 30 seconds, then length
of the train (in metres) is:/60 f&Hi/ger #1 7fd A TTd G TH TeNSt TP @Y &I UR
P A 30 YHUS BT JHY Al 81 YIS DI dvaTs Hiex H arsd|

1. 750
2. 1000
3. 500

4. 900

Correct Answer :-

e 500

25) Swarnakars of Tikamgarh trace their origin to the city of ./

fepHTe &1 WuleR TWUq & F1F- | e B IR F IR # 9a1d &2
1. Lucknow/ T3

2. None of these/ S8 I ®Ig g1
3. Ayodhya/ 3fave

4. Ujjain/ IwH

Correct Answer :-

« Ayodhya/ 3/

26) Simplify: /A 3

1 1
(625)2 x (0.0144)7 + 1 __

(0.027)3 x (81)3



27) The radius of a circular wheel is 1.75 m. The number of revolutions it will

make in travelling 11 km is: (MEﬂ - 2)/%@1@1117%1&2;%1%@1 1.75 'FﬁET%I 11
Reeft wrerd & ufRed T A Pt TR TR Y wEn R (=)

1. 800

2.1200

3. 1000

4. 900

Correct Answer :-

« 1000

28) By whom is the Advocate-General of the states appointed?/ I &
TeTRaadl &t fead grT fAged fear srar 82

1. President of India/ YRd & Igufd
2. Governor of the state/ IT & oAU
3. Chief Minister of the state/ I o @A

4. Chief Justice of India/ W%H@Wiﬁﬁr

Correct Answer :-

« Governor of the state/ 3™ & ISIUTd

29) Shah Jehan Begum was the ruler of Bhopal./ TTgsigl &7 HIUTA &
S Q|

1. Sixth/ ©&d

2. Seventh/ 9Tdd
3. Eighth/ 3{1&d
4. Ninth/ d

Correct Answer :-

« Eighth/ 33d

30) The average of 10 numbers is calculated as 15. It is found later on that
while calculating the average, one nhumber namely 36 was wrongly read as
26. The correct average is: /10 JBT3{T BT 3T 15 T4 a1 7471 1€ § 714 g1 %
ST T HI THY, TP &N 36 B I W 26 3ifhd B3 &) 715 | A& 3iad 71 B



1. 20
2. 16
3.14

4. 18

Correct Answer :-

31) If in a certain code language, SHIFT is coded as RFFBO, then which word
would be coded as LKUMB?/ afe t® fAf3d %e UTar ¥, SHIFT &1 %< & RFFBO, T9
a9 W= &1 e LKUMB F1 &l G&dT 82

1. KIVLA
2. KIRIW
3. MLVNC

4. MJVLC

Correct Answer :-

« KIRIW

32) How many natural regions is the Madhya Pradesh state divided into?/

T YR IsY @) fobaq wrpfae & # fywnfra fvar man 82
1.8
2.9
3.11

4. 10

Correct Answer :-

33) How many states does Madhya Pradesh border?/ AU fa- 34l & 1Y
T aren HRar 32

1.4
2.7
3.6

4.5



Correct Answer :-

34) By selling an article for Rs.72 there is a loss of 10%. In order to gain
5%, its selling price should be:/ T& I &I 72 T3 & 391 W 10% ! g gielt 2|
5% ATH HHM & fore 39 fry fvaa wR dw=r =nfee?

1. Rs.85
2. Rs.84
3. Rs.80

4, Rs.87

Correct Answer :-
e Rs.84

35) Which of the following soils is not found in Madhya Pradesh?/ A s=
A ger geg wemr § ) et 82

1. Arid Soil/ ¥&h HaTl
2. Red Soil/ et HaTl

3. Laterite Soil/ dexT3e Tal
4. Black Soil/ ®Tell gaT

Correct Answer :-

. Arid Soil/ [ HaT

36) Which of the following are nationalized forest produce of Madhya

Pradesh?/ fAufafed # & 7or udw & Wgiaea 99 # faeT e fear mar 32
1. None of the above/ IWIFd B A DIs Aa!

2. Both of the above/ SWRIad GIHI

3. Sal seed/ | & SISl

4, Tendu Leaf/ a"cgtl?ﬂ

Correct Answer :-

o Both of the above/m?ﬁaﬁ



Which of the following is a popular dance-form of the Gond tribals?/

fafafEa # @ o=-ar Ws snfqaRml @1 die iy Ta- v g?
1. Karma/?:b_linC

2. Thaapti/?ﬂ?ﬁ

3. Lehangi/ g1

4. Pardhauni/ SR

Correct Answer :-

. Karma/EbTﬁ

38) General Dost Mohammed Khan was a/an ./ A HigHe T
-3 O

1. Iranian/ é?l:il
2. Afghan/ 3BTt
3. Mongolian/ HMferaA

4. Turk/ §$

Correct Answer :-

« Afghan/ 3!

39) A can do a piece of work in 4 days and B can do it in 12 days. In how
many days will they finish the work, both working together?/A Pt FH B 4
M A aur B A Fm 1 12 AT A H Ioa 8, @t a1 fras? v ary St w1 &1 foraq fa
B G B2

1. 4 days/4 fed
2. 2 days/2 faA
3. 3 days/3 a1
4.6 days/6 fa=
Correct Answer :-
. 3 days/3faA

40) If 'ROSE' is coded as '6821', 'CHAIR' is coded as '73456' and 'PREACH' is
coded as '961473', then what will be the code of 'SEARCH'?/ Ufe 'ROSE’ &I
'6821' Hfed fFATATAT 8, 'CHAIR' @1 '73456' Hfcd fHar <Ira1 8 3R 'PREACH’ &I
'961473"' Hied far STar 8 df 'SEARCH' &1 %< FI1ghI ?

1.216473



2.214673
3.246173
4,214763

Correct Answer :-

e 214673

41) 5 years ago, the average age of P and Q was 15 years. Average age of P,
Q and R today is 20 years. How old will R be after 10 years?/ 5 94 Uga P 3{R Q
Bt 3d 3mg 15 T o1 P, Q 3R R Tt adu 3iaa 3my 20 awf 1 10 9 91¢ R &Y Mg 1
B

1. 50 years/SOEITSf

2. 30 years/30 CL

3. 40 years/40 ¥

4. 35 years/35 qd

Correct Answer :-

« 30 years/3oaﬁ

42) When is the Louis Braille Day celebrated?/ 3 8o f&a &a W1 ST 32
1. 4" January/4 SFE
2. 2" January/2 SHE
3. 8t January/8 SHaR!
4. 6™ January/6 SHat

Correct Answer :-

« 4™ January/4 SHa%

43) Madhya Pradesh’s Mrinal Pandey is associated with the profession of - /

AW B YU TS DI- A ATHN A GH&fa 82
1. Scientific Research/ 3 AU

2. Journalism/ TR

3. Astronomy/ id-fagm

4, Singing/ AT



Correct Answer :-

. Journalism/WﬁTﬂ

44) If 10% of m is the same as 20% of n, then m : n is equal to:/df¢ m @1
10%, n ¥ 20% P RIS ¢, 9l m : n BT HF T ER?

1.2:1
2.1:20
3.1:5

4.1:10

Correct Answer :-

45) A copper wire is bent in the shape of a square of area 81 cm?2. If the

same wire is bent in the form of a semicircle, the radius (in cm) of the
22

?)/Wmaﬁwaﬁ%wﬁﬁ@wmmmlﬂaﬂ
n:E)

u%wmaﬁaﬁqa%wﬁﬁ@m,?ﬁaﬂqaaﬁﬁwwaﬁl( 7

1.7

L. . (’L{SE’IT=
semicircle is

2. 126
3.10

4. 14

Correct Answer :-

46) A number is doubled and 9 is added. If the resultant is tripled, it
becomes 75. What is that number?/ T &I $ GRAT HIP ITH 9 SIS A1 g | Al
RO S i AT B ¢, T9 WWAT 75 & SRIER 81 ATl 3] T=AT B

1.12
2.35
3.6

4.8

Correct Answer :-

e 8



47) A, B and C invest Rs.47,000 in a business. If A invest Rs.7,000 more than
B and B invest Rs.5,000 more than C, then out of total profit of Rs.4700, C

receives:/ A, B 3R C 3 T ATUR T $d 47000 70 $t Yoit fHa=r #11afg A 7 B J 7000
FUd e 9YT B A € 5,000 T4d Sif¥e a1 fbg, <t 4700 98 & o a1y & € &1 fg=an
BICE 2]

1. None of these/%’lﬁ@aﬂﬁ'scﬂﬁ

2.Rs.1200

3. Rs.4500

4. Rs.1000

Correct Answer :-

« Rs.1000

48) 1¢ Np,= "p,, then find the value of n./df¢ "P3= "P, B, @ n T A JTd P
1.3
2.7
3.9

4.5

Correct Answer :-

49 =
) A truck travels at 90 km/hr for the first 12 hours. After that it trvels at 70
km/hr. Find the time taken by the truck to travel 310 kilometres./U® ¢b 90
1

it eieT Ft 7f | Ugd 12 U 9 TadT 31 3T 916 98 70 fHH/Her # nfa A aear g1 T H B
310 foret ot g8 T A | o fba-n T @@hme?

1.4 hrs/ 4 He
2.3 hrs/34¢
3. 2.5 hrs/2.5 ¢
4.3.5 hrs/35%¢

Correct Answer :-

. 4hrs/4'€i%



Where was Chandu Sarwate born?/ Ig IRac &1 o Hgl g3 UT?
1. Sagar/ 9"k

2. Gwalior/ TaTferAR

3. Bhopal/ Hiare

4. Rewa/ﬂT:IT

Correct Answer :-
« Sagar/ iR

51) DIRECTIONS: In the question below are given few statements followed
by few conclusions. You have to take the given statements to be true even if
they seem to be at variance with the commonly known facts and then decide
which of the given conclusions logically follows from the given statements,
disregarding commonly known facts./ﬁi“\’r: ﬁ%ﬁqwmﬁwmwaﬁvwﬁ?
1 $o Frepd fa e g1 3y AT T Sy & I AT @ YA 81 3 Tdga aa S i
woita gid g1 1 It sl @t ufee fpr aa Fifdme i few e et o & S9-ar fsed i g
FY! BT TG U F IRV BT 8, TS TI7Td a0 $© o |

Statements:/ Y

Some trains are buses./ Waﬁ, T eI

Some buses are goats./ Waﬁ, Wﬁ'tﬁ'%'l

Some goats are trees./ T© THAL, US|

Conclusions:/ fAp:

I. Some trees are trains./ Wﬁtﬁ', a?%l

II. No bus is train./ ﬁiﬁ,éﬂﬂﬁ%l

1. If neither Conclusion I nor II foIIows/H%:rﬁTEﬁﬁfI d8I I GENTUTW%
2. If only Conclusion II foIIows/EIﬁWﬁWII WW%

3. If only Conclusion I foIIows/U%aﬁﬁﬁEb'ﬁfI &IT;N?UTW%

4. If either Conclusion I or II follows/aT d F&HY 1 AT I 3IERUT BT §

Correct Answer :-

« If neither Conclusion I nor II foIIows/ﬂﬁ?ﬁEﬁﬁfI ?%TII GENTUTW?IT%

52) DIRECTIONS: In the question below are given few statements followed
by few conclusions. You have to take the given statements to be true even if
they seem to be at variance with the commonly known facts and then decide
which of the given conclusions logically follows from the given statements,

disregarding commonly known facts./ﬁﬁ‘\’rz ﬁﬁEWWﬁWHFWGﬁ?W



a1 $o Frepd fau 1T €1 sy 3T T wy= & e AT @ YA 8 A Td3a aa ¥ i
Udid gid 81 | 9 et @1 ufeu fib au Fifeme f& fau e faseul & ¥ Hi9-a1 feed 2w e
FYA BT TG Y T IRV BT 8, TS TI7a a $o i |

Statements:/HYA:

Some cars are buildings./ $9 ®R, E'H'Rﬁ%I

All buildings are trucks./ 94 3URd, TF €1

Some trucks are tins./ $8 ¢®, A7

Conclusions:/ fre:

I. Some cars are trucks./ P9 R, gﬂ?%'l

II. Some tins are trucks./ $o feq, ¢& B

1. Only Conclusion I foIIows/WﬁWEfI S‘IWUTW%

2. Either Conclusion I or II follows/aT I fssd I 4111 &aﬂwm%
3. Only Conclusion II follows/ %ad fAwh 11 &I_:JE!TUTW%

4. Both Conclusions I and II foIIow/ﬁﬁWﬁfWW%

Correct Answer :-

« Both Conclusions I and II follow/ G FshY FaRUI #3d §

53) DIRECTIONS: In the question below are given few statements followed
by few conclusions. You have to take the given statements to be true even if
they seem to be at variance with the commonly known facts and then decide
which of the given conclusions logically follows from the given statements,
disregarding commonly known facts./ﬁ%‘&’r: ﬁﬁqwmﬁwmﬁaﬁvwﬁi
a1 $o Frepd fau e €1 sy AT T wy= & I AT @ YA 8 A Tdya aa ¥ i
Udid gid g1 | It et @1 ufeu fib au Fifeme f fau e faseul & ¥ Hi9-a1 feed 2w e
HYHI BT AHTNT U A SFE HdT 8, e JdwTd 9 7o M g

Statements:/ ®Y:

Some tins are round./ Wﬁ?, Tﬁﬁ%'l

Some cups are round./ S &Y, MaA 2|

Conclusion:/ fAspy:

I. Some tins are cups./ Wﬁ?, W%'I

I1. All rounds are cups./ H‘l-ﬁTﬁ?r,W%'l

1. If neither conclusion I nor II foIIows/Zlﬁ:fﬁEFEfI JgIII &IEEITUTW%
2. If only conclusion I foIIows/ﬂﬁWﬁWI S@TUTW%

3. If only conclusion II foIIows/’Cﬁ%WﬁEbeH &@TUTW%



4. If either conclusion I or II follows/ afc a1 dl f5HY I &7 1T S{I¥RUI vl §

Correct Answer :-

« If neither conclusion I nor II follows/ afe = fsH I 7 & 1T SI¥RUI FHRT §

54) In which year was the Central Province formed?/ % Uid &1 164 f&d adf A
3T YT?

1. 1861
2.1863
3.1862
4. 1860

Correct Answer :-
« 1861

55) In which year was the New Bank Note Paper Line Unit inaugurated in

Hoshangabad?/ BRITETE # 93 9% HAle UWR A3 gfAe BT Iqure fb ay gaim 4?2
1.2016
2.2014
3.2015

4, 2013

Correct Answer :-

56) In which district is the Fair of Dhamoni Urs held?/ YT 39 A &1 e+
HH-A A A gare?

1. Sagar/ 9"k

2. Narsinghpur/ TRRIER
3. Mandsaur/ HE8R

4. Rewa/ far

Correct Answer :-

« Sagar/ iR



The book ‘Chahar Chaman'’ is a history of the rule of - / 'dgX dd" Wﬁ
fras IRIET P gfdgr™ 82

1. Aurangzeb/ RS
2. Shah Jahan/ QTgvTsl
3. Jehangir/ S8R

4. Akbar/ 3haR

Correct Answer :-

« Shah Jahan/ XTgaigl

58) At what rate per cent per annum will Rs.8000 amount to Rs.8820 in 2
years at compound interest?/ f&d aiftie Twhgfe S $ 2 T 8000 T 2 a9 A 8820
U gl SATe?

1. 8%
2. 9%
3.7%

4. 5%

Correct Answer :-

« 5%

59) At what rate percent per annum will the simple interest on a sum of
money be 2/5 of the principal in 10 years? /9 aiftfe ufaxra s #1 g3 3 fodt
IRT BT 10 TUT A FIYRT TS AU BT 2/5 N2

1. 4%

-
r

2. 63%

3.6%

4, 550/0

Correct Answer :-

60) 180 x 15 — 12 x 20 __
140 X 8 + 2 X 55

1.4



== N

LA o

Correct Answer :-

.« 2

61) 4% x 243 .
516 ¢

4. 32

Correct Answer :-

62) How many pairs of letters are there in the word "HORIZON' each of which has as many letters
between them in the word as in the alphabet?/RIeg '"HORIZON' - | GI'&RT & Q’ﬁ feaa ¥ % INGEY
¥ 3+ B &R 3Td &, fora= 3i3isit quiren § ord 82

1. One/ Th
2. Three/ dF
3. Four/ IR

4. Two/ &

Correct Answer :-

63) IfA:B=3:2andB:C=3:4thenA:Cisequalto:NﬁA:B=3:ZGﬁTB:C=3:4Eﬁ,?ﬁA:
C I BRI

1.2:3
2.1:2

3.4:5



4.9:8

Correct Answer :-

64) CANCELLED

Normally the numbers of isotopes in which hydrogen can exist are?/ dAHd:

TISS I & foham THRITFS U 9114 §:
1.1
2.4
3.2

4.3

Correct Answer :-

e 2

65) DIRECTIONS: Choose the odd one out from the given group of letters./
frd=m: SrgRi & fw U uyE A faww ug & g |

1. ADBEC
2. KNLOM
3. FIGJH

4. PRTSQ

Correct Answer :-

66) Dhanesh walks 50 m east and then he turns to his right and walks 30
metres. Now, in which is he from his starting point?/ﬂﬁl’r 50 lﬂqﬁaﬁah?m%
3R 98 gt gear 8 SR 30 W gaar 81 3rd 98 yRfu® fig A fra famn & 32

1. South-west/<feor-ufgy
2. South-east/E("f\c":lUT-‘:Ij?!c
3. North-east/Bc‘cR-Q@C

4. North-west/IcR-afgd

Correct Answer :-

. South-east/ﬂ?c\ftFlJT—‘?j\_qc



67) A mixture of 70 liters of wine and water contain 10% water. How much
more water should be added to the mixture to make 37% water in the resulting

mixture?/70 e UHT 3R IRTT & Y & 10% =i 1 39 fArgor & fra=m urt o faremar
WT¢ fh g fAryor § 379% Ur+l g1 e

1. 27 litres/27 @lex
2. 18.9 litres/18.9 dex
3. 30 litres/30 e

4. 37 liters/37 @iex

Correct Answer :-

e 30 litres/30 iR

68) Name the paradox which states that “an object can float in a quantity of
water that has less volume than the object itself, if its average density is
less than that of water.”/ ﬁ?ﬁﬁﬁﬁmﬁ?ﬂ?u‘e’m%ﬁ“ﬁwﬁwﬁ%
a1 8, ForaeT maaT 39 §RT 8¢l T 9d & Ma- o IS giaT 8 aUT IHDT 3 g
oI | $U giar 8"

1. Hawking’s Paradox/ glfdw &1 R

2. Carroll’s Paradox / B BT RI&Iﬂ

3. Aristotle’s Wheel Paradox/ &Rﬂﬁtﬂ%ﬁﬁ I FALS
4. Archimedes Paradox/ TG fHeS &1 g

Correct Answer :-

o Archimedes Paradox/ SIS BT Jgrd

69) Gasoline is the name given to the same substance as?/ el f&yg uerd &1
gaRT A W §

1. Diesel oil/ﬁﬁﬂaﬁ
2. Natural gas/ Wﬁﬂ
3. Petrol/ ﬁ‘cjﬂ

4. Crude oil/ o dd

Correct Answer :-

« Petrol/ ﬁ'@ﬁ

70) Vitamin ‘C’ is?/ faefia A g2



1. Lactic acid/ dfdes 3

2. Citric acid/ ffd® 3t

3. Ascorbic acid/ TEhITad 3
4. Acetic acid/ Q@W 3

Correct Answer :-

« Ascorbic acid/ Qﬁﬂ% 3K

71) Foot and mouth disease occurs in?/ ﬂ@ﬂﬁ?mmﬁtﬁ?ﬁ%z
1. Cattle and sheep/ G} TUT HE Bl

2. Cattle and pigs/ U] TUT Y3R &l

3. All of the above / IWRIdd It &1

4. Cattle/ o] Bl

Correct Answer :-

« All of the above / IWiad 9+t &1

72) Malaria can be cured with a drug extracted from?/ HaRar &I fry aiufa &
Iy forar 5 e &

1. Belladonna tree/ SUSHI US
2. Amaltas tree/ Wa@

3. Oak tree/ Sqd US (311®)
4. Cinchona tree/ RS US

Correct Answer :-

« Cinchona tree/ RA®HITS

73) When the velocity of a body is doubled its?/ 5§ bt fis ST TG HI A &
a9 ?

1. Momentum is double/ TaT gIAT 81 STTdT &

2. Kinetic energy is doubled/ T Suil g &1 Sl &

3. Acceleration is doubled/ ETUTEITHEP[GFIFIT%

4. Potential energy is doubled/ @ﬁmm@:ﬁg‘rwﬁ%

Correct Answer :-



« Momentum is double/ TaT gIAT & 1T &

74) In hospitals, the oxygen tubes for respiration contain oxygen and?/

SRgaTa H SHfiier et # STRfe F ary ok #1+ it A gt &
1. Argon/ 3{fTi=

2. Carbon dioxide/ BTETSII3HITES

3. Helium/ giferag

4. Nitrogen/ ATScIo

Correct Answer :-

o Helium/ ﬁﬁﬂ'ﬂf

75) DIRECTIONS: Arrange the following in a meaningful order:/ fAdw: &
o 3yl v ¥ sqafRua ¢ |

1. Curd/ Ggl
2. Grass/ 91™H
3. Milk/ g¥
4. Cow/ T
1.2,4,3,1
2.3,2,4,1
34,1, 2, 3
4.4,2,3,1

Correct Answer :-

76) Heavenly matter landing on the earth’s surface is known as?/ TH YR
verd gt @1 Tag W AT & 3 FIT HET ATl 7

1. Meteorite/ Il s

2. Shooting star/ gcdl dRT
3. UFO/ gquwall

4. Galaxy/ HIERS)

Correct Answer :-

« Meteorite/ Il fUs



77) An electrical appliance is earthed to?/ U® faegd Susur & ga=m uifda fear
7T § FNfh?

1. Reduce consumption/ STHIT &H & & T

2. Prevent shocks/ el - & g

3. Protect the appliance against any damage/ JUH B [ dt TRIS I T F Ah & fo1g
4. Avoid short-circuiting/ @WW%W

Correct Answer :-

« Protect the appliance against any damage/ IU®HRUI &I b4l W6 ¥ §AM I Ah+ o [
78) Pollination by insects is called?/ Flel RT BI1 aTdT URNTUT Hedrdl g

1. Entomophily/ TcHIthei!

2. Hydrophily/ "s’l's;@ﬁv‘ﬁ*[

3. Arnithophily/ 3ifnfteert

4. Anemophily/ THIUeT

Correct Answer :-

« Entomophily/ Temifthal

79) Solar energy is converted into ATP in?/ '\vﬁvmﬁqﬂﬂ’rﬁmw%m
DIRABIT H?

1. Chloroplast/ gRd b

2. Mitochondria/ mﬁﬁ%m
3. Peroxisomes/ URIfaRIITH

4. Ribosome/ [SaIIH

Correct Answer :-
« Chloroplast/ eRd da®

80) The function of a moderator in a nuclear reactor is?/ f&d AfUsg oI &
Heh TP aidl &

1. To moderate the number of secondary nuclei/ fedioe Tfte & T HA B |
2. To control the fission reaction/ fads ot forar o1 FEfBa war g



3. To increase the number of fissile (or fissionable) nuclei/ éﬁ%%ﬁ?ﬂgﬂﬂwﬁﬁ
e g & forg

4, To slow down the secondary neutrons/ WWW@ A A & ST BT @

Correct Answer :-

« To slow down the secondary neutrons/ WWW@ eﬂmmﬁwﬂwsﬁm%
81) Which of the following is a semiconductor?/ 9 & § &9 91 & 3idare® &:
1. Glass/ CIEN

2. Silicon/ IRINCAG]

3. Wood/ d&ba!

4. Phosphorus/ HRG R

Correct Answer :-

« Silicon/ faferera

82) People who consume maize as the main cereal in their diet are

susceptible to?/ a TN &l HFH H! &I 3T H Ad & 37 P IV 't THHT 8 Pl 8
1. Kwashiorkor/ HTASIRB

2. Pellagra/ Uamm

3. Scurvy/ Pl

4, Beri-beri/ S &

Correct Answer :-

. Beri-beri/aﬁaﬁ

83) Petroleum is found in?/ ﬂﬁmmwﬁsﬂ?ﬁﬁwm%‘?
1. Marshy land/ el Ad

2. Igneous rocks/ 3TV QA

3. Sedimentary rocks/ TS A

4. Metamorphic rocks/ =UidRd od

Correct Answer :-

« Sedimentary rocks/ &I?NTC':T%



84) The science dealing with the study of phenomena at very low
temperatures is known as?/ 3@fU® HH dTIAT & RIGT P YT HIAT HEATdl o

1. Frocenics/ BRI

2. Cryogenics/ HTAMNIHET
3. Refrigenics/ JWpIol—ad
4. Cytogenics/ BSIEEEIRES]

Correct Answer :-

« Cryogenics/ SN

85) Taiga represents?/ &7 fra yelRia Har g:

1. The grass land / TS 91 &I HeM

2. A fossil of an extinct species of tiger/ WW@@WWW

3. A genus of tiger facing extinction/ T &9 & IUVSTIA oIl faq& & WX TR §

4. Coniferous forests/ QGURT a1

Correct Answer :-

« Coniferous forests/ QHYURT a1

86) A person rode his bicycle northwards, then turned left and rode 1km and
again turned left and rode 2 km. He found himself exactly 1km west of his
starting point. How far did he ride northwards initially?/ U aafad = (U=t
arsfra I= fe=m & gamd) fibe art got ik 1 .1t 7 ok fe A g get 8k 2 &
TAT| 98 W94 DI TP URTHS fag A ufdm femn d 1 frft. g urar 81 sg yRy o SR fRezm &6t
3R frai @R a@ =anr

1.1 km/ 1 f& .
2.4 km/ 4 T,
3.3 km/ 3 fb 1.
4.2 km/ 2 fo 4.

Correct Answer :-

e 2 km/ 2 T

87) A person with blood group AB is sometimes called a universal recipient

because of?/ AB Y& Yg dTd AR b1 Td UTe! BT oATal & Fifdb?
1. Lack of antibodies/ 3¥H UCISIfSH Ul Bl &



2. Lack of antigens/ UGS &1 &I gl &

3. Lack of both antigens and antibodies/ T¢I g UeAISH g SIufRyd gt §
4, The presence of antibodies/ I tefey Iufyd gt §

Correct Answer :-

. Lack of antibodies/ 398 Uaf&H srqufRyd gt §

88) A's father is B's son-in-law. C, who is the sister of A, is daughter of P.
How is P related to B?/ A ¥ fUaiB T8I C, st fF A 988, PSIERRIP, B
A $4 e 82

1. Daughter/EEﬁ
2. Daughter-in-law/dg
3. Son-in-law/cqMHlg

4. Can't be determined/3Td ol fbaT ST Jbdl

Correct Answer :-

. Can't be determined/3Td T fdT ST Yabdl

89) Lucerne is a? /TR g Th:
1. Stem crop/ d-l A

2. Foliage crop/ T B d

3. Root crop/ SIg Thdd

4. Fungus/ Tdh dddh

Correct Answer :-
» Foliage crop/ I I d

90) A and B can complete a piece of work in 15 days and 10 days respectively.
They contracted to complete the work for Rs.30,000. The share of A in the
contracted money will be:/ A 3R B forelt o1 &Y pwr.1s R qur 10 R A @ R
TFHd &1 I Rs.30,000 T TH ST DI TH - BT 31 foram, @t o AT A & A F7 fgwan
foaer g

1. Rs.16,500
2. Rs.18,000
3. Rs.12,000

4. Rs.12,500



Correct Answer :-

« Rs.12,000
91) A rainbow is formed by the Of light by water droplets?/ $g4qu
o1 fmfor & PRI A I gai U TSI USH | T 8

1. Total internal reflection/ Jui 3fidRe® WRTdcH

2. Scattering/ THehT

3. Dispersion and total internal reflection/ ﬁmﬂzﬂqp’f@dﬁwqﬂaﬁ:{
4. Dispersion/ faau

Correct Answer :-

. Dispersion and total internal reflection/ fa&mur qur quf sfiaR® wRiad=

92) How many rectangles are there in the following figure?/ {79 a&fa & smaal
3t e fHa-i 82

B C "
il

HG F
1.9
2.7
3.8
4.6

Correct Answer :-
e« 9

93) The branch of chemistry dealing with the accurate determination of the
amounts of various substance is called?/ JATGTRI &1 98 S AT @ for a9 g0
uerd &Y AT BT 3reaud B 82

1. Inorganic chemistry / BT T
2. Analytical chemistry / fa<cvid® X0
3. Bio chemistry / S1d 91

4. Organometallic chemistry/ ®TaeTfa® T

Correct Answer :-



« Analytical chemistry / fa=Rasicdr® Xam@=

1. 144°

2.132°
3. 96°

4, 48°

Correct Answer :-
e 132°

95) The compound used as an anti-malarial drug is?/ P31 Qfe ufa wafar
SNufY & = & Iy foma wirar &

1. Neoprene/ EEE]

2. Aspirin/ TARA

3. Hydroquinone/ Bﬁ_gﬁaxﬁtﬁ?
4. Chloroquine/ ?ﬁﬁw

Correct Answer :-

o Chloroquine/ ?ﬁﬁw

96) Perspiration is maximum when?/ TR aifire o9 3marg?
1. Temperature is high and air is dry/ dYH 3fed g1 qUT g1 Yo B

2. Temperature is high and air is humid/ AU 3 81 TUT 8T 3% &1
3. Temperature is low and air is dry/ WW@HNE&TW@

4. Temperature is low and air is humid/ 99 &H 81 dYT 84T 3T 81

Correct Answer :-

« Temperature is high and air is humid/ dr9HE 3% g1 dUT 8T 3T &



97) Study the following figures and find out the number opposite to 3./

fFafafaa snefadl &1 srera 33 3R = 3 & faudia g &¥|

TR R
\ohaln
1.4
2.2

3.5

4.6

Correct Answer :-

98) The mutation theory of evolution was proposed by?/fd®Td &1 Id@f¥ad &1
Riesia foraa ufaurfea fasar ur:

1. Mendel/ #&d

2. None of these/ SIRIad & ¥ g o
3. Darwin/ SifdA

4, Lamarck/ W&

Correct Answer :-

e None of these/ mﬁﬁaﬁéqﬁ

99) DIRECTIONS: Study the following information carefully and answer the
question given below:/fAdw: fAfif@d sMeR! & a9 ¥ ufew ok 2w @y &

IR difore|

M, D, P, K, R, T and W are sitting around a circle facing the centre. D is
second to the right of P who is third to the right of K. T is third to the right of
W who is not an immediate neighbour of D. M is third to the left of R./ M, D,

P,K,R, TIRW Fs ol R Ye frugu g SIS I D, P & ¢ Y g1 @ W K & aTT
FITRIBI T, W F 31 H TRRT12 N D 1 fApead usRt T8 81 M, R & 91¢ &1 =T 81

Who is second to the right of T?/ T & &id gERT B 8?2
1. Data inadequate/grET&I'CRIﬁ'lH

2.K

3.D

4. M



Correct Answer :-

e« M
100) : 2
If 3 A = 75% of B = 0.6 of C, then A: B: Cis:/d4f¢ 3A =B P175% = 0.6 C, 9§ A: B: C JTd

HY|

1.3:4:5

2.2:3:2

3.4:5:6

4,.9:8:10

Correct Answer :-

e 9:8:10



